
VIDEO : Turning-point in history : the Industrial Revolution

https://www.youtube.com/watch?v=3Efq-aNBkvc

-In the late _______s , there were two categories of people : 

s______________ and a_______________ (= land owners)

-There were a series of innovations in the ________ and in E_______________ (  1750-1900)

-New kinds of machines were created, powered by w____________, s____________ and 
c____________

New buildings were built : f_________________

Mechanization began in the t_______________ industry

Families had to ________________ to industrial towns.

Two categories of people emerged : I_________________  and W______________ (= ouvriers)

Good points of the Industrial Revolution     :

- F_____________, c_______________ and f_____________ became more affordable ( = 
cheaper)

- New transports emerged : l_______________ and s________ b_________ : manufactured 
goods could now be sold around the world.

- It created jobs and wealth (= richesse)

Bad points :

- In industrial towns, there was a lot of p_________________ (from coal-powered factories)

- People had to live in urban s_____________ ( = _____________ ) because there wasn’t 
enough housing

- Workers and children were e________________ because industrialists wanted to make more 
and more profits.

Example in the USA (New England): in the 1830s, a girl in the textile mills worked from _____
am to ______ pm and was paid only _____________ a week !

People started to protest and asked for regulations and laws to p_____________ children.
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